Test 2A MA125-6 A

October 2, 2013

Name: '4( ':\) Signature:
SHOW ALL YOUR WORK!

If you have time, find a way to check your answers.

Part 1

1. {6 points] Find ¢’ if y = z8sin(x).
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2. 16 points] Differentiate the function f(z) = 52%.
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3. 16 points| Let v(s) = g(h(s)), where h'(0) = —3, h(0) = —1 and ¢(~1) = 4. Find v/(0).
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4. 16 points] Find the derivative of the function g(u) = 7u® + — +4u— V3.

Q) = T -5 2 () 4 2 (1) & (R)

—;_(3,“2) -5'(_.27[3) +4 (1) - O

|21w® 0w’ *i7

LY

|}

h

h




5. {6 points] Find the derivative of the function f(z) = (tan(z))*.
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6. {6 points| Find the values of x for which the curve y = 222 + 722 4+ 4z — 2 has a horizontal tangent line.
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7. 16 poiuts; Each side of the square is increasing at a rate of 1 cm/s. At what rate is the area of the square increasing

when the area of the square is 9 cm??
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Part 2

1. 7 points] Find the equation of the tangent line to the parabola y = 22 — 7z + 9 at the point (3,-3)
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2. {10 points] Let f(z) = 22 + 3. Use the limit definition of the derivative to find the derivative f(z).
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{11 points; Use implicit differentiation to find the derivative % if y® = sin(zy).
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5. [12 points; Match the graph of each function in (a)~(d) with the graph of its derivative in I-IV.
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